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The Slope of the line is the rate of change.
The greater the rate of change, the steeper the slope.
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EX 1: Discuss the slope (rate of change) in each of these graph

examples.
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A Price-Demand Function is a good example of slope.

EX 2: Write a statement that describes how one variable varies with
respect to the other. Then answer the questions.

A gas station owner finds for each 2-cent increase in the price of
gasoline, she sells 120 fewer gallons of gas per week.

SaJ-CS dtCPCCLS'L as Pr'\(,( 1A chea $€S
V\<¢L 1S one wvual.h s,\leﬁ is a,\qmy vanjable
((.v\oU.P van) gelis) ‘P‘ vm.\)

a) How much more or less will she sell if she raises the price by

10¢ per gallon?
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b) What if she decreases the prlce by 5¢ per gallon?
note. S ¢=2S 2-¢ acremant
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c) What is the slope (rate of change) in this problem.
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